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(1) sinx=—% (0= x<2r)
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(2) cosx§—% (0= x<2r)
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sin?x =1—cos’ X (cos2 X =1—sin? x) 1+tan’x =

. sin x
- (cos2 X+sin>x =1, tan x:—j

cos?® X COS X
. . . 1
sin(a+ B)=sinacos f+cosasin B COS°X=————
(a£5) p p 1+tan’® x
. . tana £ tan g
cos(a+ B)=cosacos BFsinasin B tan(a+f)=————
(a£5) p p (@£ 4) 1Ftanatan 8
Sin2x=2siNXCOSX  COS2X = C0S” X —sin® X tanZX:ZLn;(
1-tan® x
sinzx:# coszx:% asinx+bcosx =+/a’+b?sin(x+0) (tanezgj
a
sinAJrsinB:ZSin'A‘JZFI'D’COS'AHZrB sinacos,B:%{sin(a+ﬂ)+sin(a—ﬂ)}
sin A—sin B = 2cos A; B sin A; B COSO(Sinﬂ=%{Sin(d+ﬂ)-3in(d-ﬂ)}
cosA+cosB:2cosAJ2chosAJ2rB coswcosﬂ:%{cos(a+ﬂ)+cos(o¢—ﬂ)}

cos A—cos B = —2sin A; B sin A; B sin asinﬂz_?l{cos(a+ﬂ)—cos(a—,3)}
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sina = 1 cos® / sinﬂ:tanlgcosﬁ=2\/§x%1=¥
tan o = sin o x—= :i i:—Z\/— tan B = 2+/2
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tan(a+ﬂ)=tana+tanﬁ= ( )=O sin2a:23inacosa=2-2\/§-—1= 42
1-taneatan g 1_2\/5(_2\/5) 3 3 9
COSZa:COSZa—Sinzazl—gzi tan2 = 2tan2ﬁ :4\/52_4‘/5
9 9 9 l1-tan°p 1-8 7
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(3) +/3sin X—cosx=rsin(x+60) =r= (\@)2+(—1)2 =2
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